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import sys
sys.path.append("statlib")
from xtest import Kendall tau_b
Kendall_tau_b(f, verbose=False)
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import sys
sys.path.append("statlib")
from xtest import Kendall_tau_b

a = Kendall_tau_b(d, verbose=True)

tau b = -0.18065
0.20432
ase® = 0.20678
Z value = -0.87363
p value = 0.38232
Z value 2 = -1.14558
p value 2 = 0.25197

asel

print(a["taub"])

-0.18065152032833257
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import sys
sys.path.append("statlib")
from multi import cor

b = cor(x, y, method="Kendall")

Kendall's correlation coefficient = -0.181

print(b["r"]1)

-0.1806515203283326

statlib.xtest O cor_test() TFEL TA 3%,

from xtest import cor_test
c = cor_test(x, y, method="Kendall", verbose=False)

p value =", c["pvalue"])

"

print("tau_b = ", c["estimate"],

tau_b = -0.18065152032833257 p value = 0.3507034029433831

Python Tl scipy.stats.kendalltau T %,

from scipy.stats import kendalltau
kendalltau(x, y)




KendalltauResult(correlation=-0.18065152032833257, pvalue=0.3507034029433831)



